ROMANIAN MATHEMATICAL MAGAZINE

Let
$$a, b, c > 0$$
. Prove that $a^b + b^c + c^a > 1$

Proposed by Nguyen Hung Cuong-Vietnam Solution by Mohamed Amine Ben Ajiba-Tanger-Morocco

If at least one of the numbers a, b and c is greater than or equal to 1, inequality occurs.

Assume now that
$$a,b,c<1$$
. By Bernoulli's inequality, we have
$$a^b=\frac{a}{[1+(a-1)]^{1-b}}\geq \frac{a}{1+(a-1)(1-b)}=\frac{a}{a+b-ab}>\frac{a}{a+b+c} \text{ (and analogs)}$$
 Therefore

 $a^b + b^c + c^a > \frac{a}{a+b+c} + \frac{b}{a+b+c} + \frac{c}{a+b+c} = 1$, which completes the proof.